Algebra Success MName: L
Date: A/B

Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: =11 ar x=-1
x! =1lx+28=

1224224
Find the »-intercepts of N n
y=x' +8x+15 /
(0, 15)
Use the Quadratic Formula to find the
roots of -
T (= THx—4)

y=dx® =12x~5

{-5,0) and (-3, 0)

Solve for x
O=x®=10x=

/_r:? o x=4

What is the point of intersection o

y==5x—12
Ix+5y="T2 xt =3x-28
,r-”#f.-
Simplify: - 1,0) (=1,0)
(x=THx+4)

6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS - ANSWERS
Factor this expression: x=11 or x=-I
' =1lx+ 23:“‘_““
1244224

(0, 15)
\7]{1_4,

S (-5,0) and (-3, 0)

Use the Quadratic Formula to find the
roots of

y=dx' —12x—

Solve for x:

D=x' -10x=11H—
\ .'|:='_'|r ar .1.'=4

Ix+S5p=T2

x4 —3x-28

Simgplify: (11,0 (=1,0

(x=Tix+

, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the guestion carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: x=11 or x=-l
£ =1lx+28=
r_lziu"zm
Find the xintercepts of R

p=x" +8x+15

(0, 15)
Use the Quadratic Formula to find the
roots of i b
y=dx® —12x-5 Edmlly ool
(=5, 0) and (-3, 0)
Solve for X

O=x° -10x=11

What is the point of intersection of

y==5x~-12

Ix+5y=T2 x¢ —3x-28

Simplify: (11,0 (-1,0)
(x—THx+4)

(-6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: x=11 or x=-1
.'r"'—Hxi.'-IS:tI-_
|I "'\.R
\ ' 122224
Find the xintercepts of \\ g7:F o 8

y=x' +8x+15 ~ -

=

b “‘< (©, 15)

S,
Use the Quadratic Formula to find fne/
roots of

Sy 3 (x=THx—4)
“ (=5,0) and (-3, 0)
Solve for x
0=x'=10x=11

=7 or x=4

What is the paint of intersection of _

y==5x=12
Jx45y=T2 x%-3x-2%
Simplify: (11, 0) (=1, 0)

(=Tt 8~

(6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: xzll or x=-1
x =1lx+28=
_12+24
Find the x-intercepts of T
y=x' +8x+] i N
s (0, 15)
s
Use the Quadratic Formula to find the
roots of /
=THx—4
y=4x* =12x -5 / x=THx—4)
i
,.-"/ (-3, ) and (-3, 0)
Solve for x; A

0=x* —10x=14"

x=4

What is the point of intersection of

y==5x=12
Simplify: (11,0) (1,0
(x—THx

(-6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1, One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: =11 or x=-1

x* =1lx+28= \

\\H'\-

h\‘\.h
“ 1244224
Find the xintercepts of el TR
y=x' +8x+15 TN :
% |
H‘x_ {0, 15)
S
Use the Quadratic Formula to find the
roots of Y
y=4x' =12x-5 (x=T)x—4)
~yL5, 0) and (-3, 0)
Solve for x
O=x'-=10x-11

x=7 ar x=4

What is the point of intersection of

p==5x=12

x4+ S5y=T2 x? =3x-28
Simplify: (11, 0) (-1,0)

(x=THx+4)

(6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1, One thing that can help you get started solving @ problem Is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: x=11 or x=-1
x* =11x+ 28 =
1244224
Find the sintercepts of S

_1.-=.1.':+:I'!‘..'¢=-I5 :x \

A (0, 15)
. ¥ _ g
Use the Quadratic Formula to find the 8
roots of Al
p=dxt —12¢-5 - Ax—THx=4)
\::_H
(=5, 0) and (-3, 0)
Solve for x
D=x —10x=11
r=T7 or x=4
What is the point of intersection of
y==5x=12
Je4Sy=T2 x* —3x-28
Simplify: (11, 0) (=1,0)
(x=THx+4)

(-6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: x=11 or x=-I|

2! =11x+28

124224
Find the .intercepts of X g

pe=x’ +Bx+15

(0, 15)

Use the Quadratic Formula to find
roots of s
p=4z° -12x-5 ;
(=5, 0) and (-3, 0)
Solve for x

O=x’ -10x-11

=7 or x=4

Wwhat is the point of intersection of
y==5r=12
x4 Sy=T2 xt =3x-28
Simplify: (11, 0) (=1, 0)
(x—"THx+4)

(-6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving & problem Is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: r=11 or x==I|
' =1lx+28=

1244224
Find the eintercepts of R Ay
y=x"+8x+]
S0
Y ['i‘u"l'
e . (0, 15)
Use the Quadratic Formula to find the
o TN x—4)
y=dx! ~12x-5 gl
-5, 0) and (-3,0)
Solve for x;
O0=x! -10x-11

x=T or x=4

What is the point of intersection of

y==5x=-12

Ix+35y=T2 x2=3x-28
simplify: G, s (R (11,0) (=1,

(x=THx-+=)

t

SR -6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem s to figure out what the answer
s going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: x=11 or x==I
¥ —1lx+28= gy,

1244224
Find the xintercepts of ¥ 8
y=x"+8x+15

{0, 15)
Use the Quadratic Formula to find
roots of
ymds® 1275 (x—THx-4)
-5, 0) and (-3,0)

Solve for x
O=x" =10x=11

x=T7 or x=4

What is the point of intersection of

y==5x=11
3,”5].-.-?1\ x* =3x-128
Simplify: (11,00 (=1, 0)
(x=Tix+4)
% - 5]
1:{' I‘::':'I _ "'I':':T ; 'F;:;' . = ]
J—L——i—4 ,’( B 5 : -6, 18)
im F Jg‘;\) el
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: =11 or x=-]
2 —1lx4+28=
1214224
Find the »intercepts of T T

v=x +8x+15

(0, 13)

Use the Quadratic Formula to find the
roots of

y=dx! —12x-5 (x=THx—4)

-5,0) and (-3.0)

Solve for x:
O0=x* =10x-11
x=T7 or x=4
What is the point of intersection of
. y=-5x-12
Ix+5y=T2 x? =3x-28
Simplify: (11, 0% (=1, 00
(x—THx+4)

(6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: x=11 or x=-I]
! =1lx+28=
“xm_
2
Find the x-intercepts of
y=x" +8x+15

F

- {0, 15)
Use the Quadratic Formula to find the

roots of
p=dx® =12x- ‘\"(.1—'?]1.1'-4}
(-5, 0) and (-3,0)
Solve for x
D=x" -10x=1
x=T or x=4
What is the point of intersection of
y==0x=12
In+ Sy=T2 _—x*=3x-28
Simplify: La 5y (11,0 (-1,0)

(x-Tx+4) _—

i

(-6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1, One thing that can help you get started soiving a problem Is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: =11 or x=-=I
x! — x4 288 —
1244224
Find the xintercepts of _ e T
y=x +8x+15
{0, 15)

\

Use the Quadratic Formula to find the
PO 0 \q T 4
y=4x —12x~ = 1) x=4)
{=5.0) and (=3,0)
Solve for
O=x -10x

x=T7 o x=4d

What is the point of intersection

y==5x-12

Ix+5p=T2

\
Simplify: // \i!. 0) (=1, 0)
(x=THx+4)

(b, 18)

%t —3x-28
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem Is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
. =] ] x=-]

Far:l:url:l'dfs EIEPI'EEﬂ'DI"I-R x or

=1lx+25=

H'\
R 1244224

Find the xintercepts of \ T

y=x' +Bx+15

L
N {0, 15)

Use the Quadratic Formula to find the h

roots of

‘x
yp=dz —12%—5 \ j{IFT}U—d}

(=5,0) and (-3, 0)

Solve for
O=x! =10x=11

x=T7 o x=4

What is the point of intersection of

y==5g=12

x4 5y=T2 x2 —3x-28
Simplify: (11, 0) (=1,0)

{x=THx+4)

(-6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column, DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS

Factor this
x' =11x+28= /

Find the #II'IIEI'EEDEB(\
y=x" +8x+15 ™

Use the Quadratic Formula to find '
roots of \‘\
p=4x* =12x-5 “\ (x=THx—4)
™,
X (-5, 0) and (-3, 0)
Solve for x H.H

0=x" =10x-11 e

mmsthemlrnnmem:uunur/

ypu=5x=12
Ix+5y=T2 x* -3x-28

Simplify: / (11, 0y (=1,0)
I::,:r.'-— ‘T}[,::J_'j}/‘//

(6, 18)
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Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO NOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: x=11 or x=-1
%' =11x+28= .
x'*a
H\-\.\.
\\ 1244224
Find the sxintercepts of s

y=x' +Bx+15

\ {0, 15)
Use the Quadratic Formula to find the Y
roots of

pmdel —12¢-5 (T =)

(=5, 0) and (-3, 0)

Solve for &
O=x" =10x-=11

x=T7 or x=4

What Is the point of intersection of

y==5x—12

Ix+5p=T2 X% —3x—28%
Simplify: (11, 0y (1,00

(x—THx+4)

(—6, 18)



Algebra Success Mame:

Date: <t { LOIFA /(B )

Thinking ahead and analyzing problems
WHAT WILL THE ANSWER LOOK LIKE???

1. One thing that can help you get started solving a problem is to figure out what the answer
is going to look like. Match each question below with one of the answers in the answer
column. DO MOT DO ALL OF THE MATH STEPS! Instead, read the question carefully
to decide what the answer should look like.

QUESTIONS ANSWERS
Factor this expression: i x=11 or x=-]
2 -11lx+28= T,
1224224
Find the sintercepts of o

y=x' +Bx+15

\ (0, 15)

\
Use the Quadratic Formula to find thah_w \\ 19

roots of . A
p=dx? =12x-5§ h ,,/:’" (x=T)Hx—-4)

\ (=5, 0) and (-3, 0)
Solve for a:
O0=x' -10x-11
.
—-—:}.r='." or r=4
What is the point of intersection of
y==5x—12
Ix+5y=T2 x% —3x—28
Simplifi: (11,0) (1,00
(x—THx+4)
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